DairyCo Mobility Score

Farm:

Date:

Scorer:

Total number of cows scored:

Score 0 and 1 Score 2 Score 3

Acceptable mobility. Likely to benefit from treatment. Very Lame. Treatment urgently required.

Exumple (Total number of cows scored = 119 cows. (note the IDs of any cows showing signs of score 2) (note the IDs of any cows showing signs of score 3)
Divide the herd into groups of similar size
for easier mobility scoring. In this working
example 30 cows were assessed in group 1.)

Group 1 Group 1 Group 1

e HE Calculation: 202 412 34 Calculation: Calculation:
Tally the number of (22 + 119) 78 555 20 6+119) (2+119)
cows scoring O or 1 then x 100 () O then x 100 () O
Oo Oo OO O Oo o
Summary
number of cows % number of cows % number of cows %
Group 1 22 18% Group 1 6 5% Group 1 2 2%
(Repeat the scoring process for groups 2, 3 and 4)
Group 1
Group 2
Group 3
Group 4

number of cows % number of cows % number of cows %
Group 1 Group 1 Group 1
Group 2 Group 2 Group 2
Group 3 Group 3 Group 3
Group 4 Group 4 Group 4
Total Total Total

Mobility index

ie % of cows as an overall total of the herd scoring 0 and 1 %

DairyCo



DairyCo Mobility Score

Record and tally the
number of cows scoring
Oorl,ie 22.
Calculation to find %
is (22 + 119) then
x 100, ie 18%.

Record and tally the
number of cows scoring
Oorl,ie27.
Calculation fo find %
is (27 + 119) then
x 100, ie 23%.

Record and tally the
number of cows scoring
Oorl,iel5.
Calculation to find %
is (15 + 119) then
x 100, ie 13%.

Record and tally the
number of cows scoring
Oor 1, ie 24.
Calculation to find %
is (24 + 119) then
x 100, ie 20%.

Acceptable mobility.

DairyCo Mobility Score

Score 2
Likely to benefit from treatment.

202 412 34
78 555 20

Note the IDs of any cows showing signs of
score 2. Tally the number of cows scoring 2, ie 6.
Caleulation to find % is (6 + 119)
then x 100, ie 5%.

Note the IDs of any cows showing signs of
score 2. Tally the number of cows scoring 2, ie 2.
Calculation to find % is (2 + 119)
then x 100, ie 2%.

10 15 107 66 54
43 21 74 12 209
321 11

Note the IDs of any cows showing signs of
score 2. Tally the number of cows scoring 2, ie 12.
Caleulation to find % is (12 = 119)
then x 100, ie 10%.

36 667 62

Note the IDs of any cows showing signs of
score 2. Tally the number of cows scoring 2, ie 4.
Caleulation to find % is (4 + 119)
then x 100, ie 3%.

Summary

number of cows
6
2
12
4

Total 24 20% Total

Mobility index

of cows as an overall total of the herd scoring 0 and 1

Very Lame. Treatment urgently required.

Score 3

(5 Note the IDs of any cows showing signs of score 3.
Tally the number of cows scoring 3, ie 2. Calculation
to find % is (2 + 119) then x 100, ie 2%.

¢ Note the IDs of any cows showing signs of score 3.
Tally the number of cows scoring 3, ie 1. Calculation
to find % is (1 + 119) then x 100, ie 1%.

€ Note the IDs of any cows showing signs of score 3.
Tally the number of cows scoring 3, ie 3. Calculation
to find % is (3 + 119) then x 100, ie 2%.

Note the IDs of any cows showing signs of score 3.
Tally the number of cows scoring 3, ie 1. Calculation
to find % is (1 + 119) then x 100, ie 1%.

number of cows

2

1
3
1




